


Diagram NOT
accurately drawn

PQ is a straight line.

(a) Work out the size of the angle marked x°.

1)
(b) (1) Work out the size of the angle marked )°.
.......... 12 .
(i) Give reasons for your answer.
....... PA. is.. stws h’}\twév%&@rﬁl&mm@&\m

BTSN 4% M\n%\aﬂﬁ\&auklde%kxsazbw%
‘e side . 3)
Do sumn & dhe oppos 2 & avwle f hat angle (4 marks)

120° 140°

/)
o\

Diagram NOT accurately drawn

Work out the size of the angle a.

(2 marks)
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50° X
A C D

Diagram NOT accurately drawn

In the diagram, ABC is a triangle.
ACD is a straight line.

Angle CAB =50°.

Angle ABC = 60°.

Work out the size of the angle marked x.

(2 marks)

P

>

Diagram NOT accurately drawn
POR is an isosceles triangle.

PO =PR.
Angle R =23°.

Work out the value of x.

The Maths Society



Diagram NOT accurately drawn

ABC is a triangle.

Work out the size of the angle marked p.

p= é@ ......... °
(2 marks)
S
X2 50°
P 0 R
Diagram NOT accurately drawn
POR 1is a straight line.
SO = SR.
(i)  Work out the size of the angle marked x°
(50 o
(i) Give reasons for your answer.
ALRE s msoceles. and.. 8hoidd line. hac @
(3 marks)
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Diagram NOT accurately drawn

(a) Work out the value of x.

(0))
(b) Work out the value of y.
Y=eenn _
2)
(3 marks)
Diagram NOT
accurately drawn
X " 62°
B 0 €
Triangle ABC is isosceles, with AC = BC.
Angle ACD = 62°.
BCD is a straight line.
Work out the size of angle x.
S
(2 marks)
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P ! 0 ! R
Diagram NOT accurately drawn
POR is a straight line.
PO=05=0R.
Angle SPQ = 25°.

(@) (1) Write down the size of angle w.

Q5 .
(1i1)) Work out the size of angle x.
............. 120 ....c
(2)
(b) Work out the size of angle y.
e T °
(2)
(4 marks)
10.
W 105°
Diagram NOT
accurately drawn
Work out the value of x.
x= N
(3 marks)
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11.

Diagram NOT
accurately drawn

A
ABD is atriangle. ABC is a straight line.
Angle ABD =70°.
AD =BD.

(@) (1) Work out the value of x.

(i) Give a reason for your answer.

..... Agccss"fm@}’\*lmzw[/hchhﬂ—s‘@

2)
(b) (1)) Work out the value of y.
aldo ..
(1)) Give a reason for your answer.
v AQBDU\ISSC)G@{C’{ ....... 5?3/,%4'500%16
A BRI e
3
(S marks)
12.
Diagram NOT
accurately drawn
Work out the value of a.
a=2CE
(3 marks)
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13:

E
A108°
[ 5457\
/ ‘:\/<'“ 12(?“”/
// /\/ \><
/ N
A /’< N
Z X | \C

Diagram NOT accurately drawn

In the diagram, ABC is a straight line and BD = CD.

(a) Work out the size of angle x.

()

(b) Work out the size of angle y.

3
(5 marks)
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Here are four angles A, B, C and D.

A B

-

(a) Measure the size of angle C.

(b) Match the angle mathematical name to the angle.

Mathematical Name Angle

Acute Angle
Obtuse Angle
Right Angle
Reflex Angle

)

[
A
Y

(Total for question 7 is 3 marks)

In the space below draw an angle of 60°
Label the angle A4.

(Total for question 2 is 1 mark)
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4 N

3 In the space below draw an angle of 110°
Label the angle B.

(Total for question 3 is 1 mark)

Diagrams are NOT accurately drawn, unless otherwise indicated.

4 ABC is a straight line. Work out the size of the angle marked x.
A B C
CgbiN
D
59 o
(Total for question 4 is 2 marks)
=] Work out the size of the angle marked x.
x| |
145°

|25 °

(Total for question 5 is 2 marks)
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AB and BC are perpendicular lines. Work out the size of the angle marked x.

A

0

2 °

(Total for question 6 is 2 marks)

ABC is an isosceles triangle Work out the size of the angle marked x.

B

65°

50 .

(Total for question 7 is 2 marks)
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\132°

(a) Work out the size of the angle marked x.

(b) Give a reason for your answer.

Haaighl line has ©

(Total for question 8 is 2 marks)

The diagram shows a square ABDE and an equilateral triangle BCD.

A B

(a) Write down the size of angle ABD

(b) Write down the size of angle BCD

(c) Find the size of angle ADC

lo5 o

(Total for question 9 is 4 marks)
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(a) Work out the size of the angle ABC.

T

10
122°
99°
(a) Work out the size of the angle marked x.
(b) Give a reason for your answer.
e cshale  cioele. has 360
(Total for question 10 is 2 marks)
1 -
64° 32°

(b) Give a reason for your answer.

C\\?r (&r\ﬁi\ﬁ L\ﬂx (>

(Total for question 11 is 2 marks)
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\118°

12 ABC is a straight line. Work out the size of the angle BDC.
D
25 55 29°
A B C
26 .
(Total for question 12 is 4 marks)
13

(a) Work out the size of the angle marked x.

(b) Work out the size of the angle marked y.

(c) Give reasons for your answer.

26 °

Fhe arwﬁle [Ty 5«(’)@‘@\/& Ve

15 W0 omd in r‘monﬁ\&md's\d-e%lc ...... s @50l $
Ne sun d dhe opposite oide & avle of dhed anle.

\Z

(Total for question 13 is 3 marks)/
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ABC is a straight line.

Show that ABD is an isosceles triangle
g - €O- 12A= 56
N + GF =\
% = \24A —6% = 56
gO) oC =4
4D 8D
AABRD s 1550 celes

(Total for question 14 is 4 marks)
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Diagram not
drawn accurately

110°

(@) (i) Work out the size of the angle marked y.

...... Lo
(ii) Give a reason for your answer.
.................. Cle. . cshole. coele s €00
.................................................................................................................. (2)

Diagram not
drawn accurately

121°

(b) (i) Work out the size of the angle marked w.

(ii) Give a reason for your answer.

.............. Aogle o sbroidit \vneis. 16D
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Diagram not
p drawn accurately

() (i) Work out the size of the angle marked p.

(i) Give a reason for your answer.

q\\r\eb‘?g\r\i[:@nﬁle ....... N1 A W B ——
(2
Shown below is a quadrilateral.
Diagram not
drawn accurately
Work out the size of the angle marked x.
...... l@...c

The Maths Society (2)



3. Shown is a right angled triangle.

Diagram not
drawn accurately

Work out the size of angle y.

02
(2)
4.
(a) Work out the size of the angle marked x.
55

(b) Give a reason for your answer.

e cdole. chde. s 2600
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X X
Work out the size of x.
........ €O .0
(2
X
48° 86°

Work out the size of angle x.
¢ ;
(2

The Maths Society



7. Shown below is a quadrilateral.

75°

120° 130°

Work out the size of angle y.

OB
(2)
8.
104°
b
a

(@)  Work out the size of angle a.
oA
(1)

(@)  Work out the size of angle b.
...... H6
(1)
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64°

The diagram above shows a parallelogram.

(@)  Work out the size of the angle marked x.

......... e ...
(b)  Work out the size of the angle marked y.

......... 6.
(2

10. Shown below is an isosceles triangle.

Y
£ o

Work out the size of the angle marked y.
....... 260
(2)
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11. Shown below is an isosceles triangle.

82°

Work out the size of the angle marked w.

12.

Diagram not
drawn accurately

Work out the size of the angle marked x.

The Maths Society



13.

Work out the size of angle y.

as
(3)
14.
68°
XN
(a) Calculate angle x.
........ LR
(1)
(b) Calculate angle w.
...... 5.
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15.

G

E

Triangle EFG is an isosceles triangle.

Lines FGH and EGI are straight lines.

Angle EGF is 104°.

(a) Find the size of angle HGI.

(b) Find the size of angle EFG.

The Maths Society



16. Below are 3 straight lines.

N
%7

Find the size of angle y.

ARa
(3)
17. Bernard says AC is a straight line.
Not drawn
accurately
627\119°
A
B C
Is he correct?
Explain your answer.
M\ ) he 15 not comet
6 £ \(a= &l (80
(2

The Maths Society



20.

Triangles ABD and BCD are both isosceles.
AD =BD

AC is a straight line.

Is ADC a right angle?
Clearly explain your answer.

= \0-AcFOI= 0

%;ﬁlbs
A

>4y = Aot 5= F5 F90°
S LADC s w0l 2igd osle

The Maths Society
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21.

C :
Diagram not
drawn accurately
15°Y  40°
y o Fo
D E F

DEF is a straight line.
CE =CFE.

Angle ECF is 40°.
Angle DCE is 15°.

Find the size of the angle marked vy.
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